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500,000& = 1201 & 6,000
OUE/3a A28 1,000,000& * 23l 2,000
OZHM PC &sHH 250,000& = 22CH 5,500
OEHEH IIECIXN(ZIH) 300,002 * 63 1,800
O=sAMEXN 7L 25,0003 * 102fA = 43 1,000
O2JI&83)] Z2e{ne 200,000& * 200 *~ 63 2,400
OCCTV 2 HMAIAE 22X ™M A F X (UPS) A 20,000
02 35244l 557,407 502,807 54,600
O332=2 2 HA 439,200
—CCTV dE36dz
90,000 = 35034 = 1220 378,000
—CCTV &Jlg  17,000& = 30034 « 1204 & 61,200
O&I|td 22 RANEE > 150,000& * 120 & 1,800
OSEHHAIAHE SXNNES 107,303
—SEZHHAANH, MESHAH, GISHH
6,816,300& * 1200 * 8% 6,544
— AE2X 460,090,000& * 7% 32,207
—SES2ULHE ATZEH(2HMAZEANN)
165,677,492 * 10% 16,568
—SE2MUHAANH, MNEZUHAH, GISHH
Tz 1,141,660& = 120H * 10% 1,370




S TR D
M Z0lotE SEBA
CHYl: CCTVE B 2 M A Ef EEEEED
SA-ES O (BH) - ALY - HES Ol & 04 SSa HDS2
—GISZLIEIZ A~ 40,000,000 » 10% 4,000
—2HIY NSE M AIAH
29,263, 17020 * 10% 2.927
— M= AR, L2ALX, SANASIX
104,696,4302 * 8% 8.376
—ghste o4, NTPAIB  90,821,42020 = 8% 7,266
— Db EHA Y 144,384,0002 * 8% 11,551
—CCTV QMBS RNl AL
36,000,0002 * 8% 2,880
— CCTV X 2B S 0IA Al A
37,471,5002 * 8% 2,998
— HAYCSBRIAIAE 16,500,00080 * 8% 1,320
— ADIERRIAIAE 82,500,0008 * 8% 6.600
—orerE YAy 33,690,0008 * 8% 2,696
OYAa & X2 8.176
— P2 HEZ2{(IP-Wall controller)
40,000,0002 * 10% 4,000
—DIDRLIE (EL2UH)
2,900,0002 = 18CH * 8% 4,176
OXSs D FAUHAAY X L2 928
—HICIQAH, Za=l
11,600,00080 * 8% 928
401 Al HIZ 2 THY| 402,000 1,241,980 839,980
01 Al&HI 400,000 1,237,980 837,980
Owd, 02l0lE5 S TV SXEs 100,000
OHS0AE (CTV SX &2 100,000
02021 2 CCTV & X 200,000
03 Al =T H| 2,000 4,000 2,000
OCCTV & Xl Al& 2] 2,000
405 XHAHE S 152,800 251,400 98,600
01 MHetL S E3 S| 152,800 251,400 98,600
OCCTV ZHRIMEl &2 IH0i2r K 2H0l M A (12
0xHe) 440,00080 * 12074 52,800
OAERIX =4 50,000
OCCTV BB SEAA AL =4 50,000
MEES (o &) 589,444 590,070 626
WEAHHX S 589,444 590,070 626
W22 o2 589,444 590,070 626
702028 E2 589,444 590,070 626
01 J2EE2 589,444 590,070 626
OMLrz2I2 5012 589,444
HESAAH (HHoHE D) 77,000 77,000 0




M THLHorA It
M HM2HAY|(THLotE )
ch: JI24dd| (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
JlE&dl 77,000 77,000 0
Jl2&Hl 77,000 77,000 0
201 et d| 67,000 47,000 20,000
01 AP 2t 2| bl 67,000 47,000 20,000
Ogttf=2y| 45,000
OF=1=1:] 22,000
202 044 10,000 30,000 A 20,000
01 2L Y| 10,000 30,000 A 20,000
O=2Woyl 10,000




